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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. 2x2+11x+15=0
II. 4y2+13y+9=0
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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. x2-36x+324=0
II. y2-35y+216=0
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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. x = 𝟏

𝟑ൗ

II. y2 = 6
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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. 2x2+17x+35=0
II. 3y2+17y+24=0
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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. x2+72 = 108
II. y3 + 581= 365
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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. 8x2+58x+39=0
II. 8y2-14y-15=0



अǓत संभाͪवत Ĥæन – Based on Previous Year Paper

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. 8x² + 6x + 1 = 0
II. 3y² + 7y + 2 = 0



अǓत संभाͪवत Ĥæन – Based on Previous Year Paper

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. x² = 196
II. y² – 26y + 169 = 0
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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. 9x² – 12x + 4 = 0
II. 8y² – 9y + 1 = 0
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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. x² – 15x + 56 = 0
II. y = 𝟑
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In the following questions two equations numbered I 
and II are given. You have to solve both the 
equations. Give answer:
िनÌनिलिखत ÿĳŌ म¤ दो समीकरण I तथा II िदए गए है. 
आपको दोनŌ समीकरणŌ को हल करना है. उ°र दीिजये:
(1) If x>y (2) If x>y      (3) If x<y      (4) If x < y
(5) If x = y or the relationship cannot be 
established/सÌबÆध Öथािपत नहé िकया जा सकता:
I. 3x² + 10x + 8 = 0
II. 2y² + 3y + 1 = 0



अǓत संभाͪवत Ĥæन – Based on Previous Year Paper

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

What will come in place of the question mark (?) in 
the following number series?
िनÌनिलिखत सं́ या ®ृंखला म¤ ÿĳ िचĹ (?) के Öथान पर ³या 
आएगा?
17,      98,      26,      89,      35,      ?

A. 80       B. 75         C. 67            D. 53           E. None 
of these
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What will come in place of the question mark (?) in 
the following number series?
िनÌनिलिखत सं́ या ®ृंखला म¤ ÿĳ िचĹ (?) के Öथान पर ³या 
आएगा?
2,      17,        89,         359,         1079,           ?

A. 2137        B. 2121          C. 2377          D. 2159          
E. None of these
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What will come in place of the question mark (?) in 
the following number series?
िनÌनिलिखत सं́ या ®ृंखला म¤ ÿĳ िचĹ (?) के Öथान पर ³या 
आएगा?
3,         5,           15,            45,             113,              ?

A. 250           B. 243           C. 247               D. 261              
E. None of these
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What will come in place of the question mark (?) in 
the following number series?
िनÌनिलिखत सं́ या ®ृंखला म¤ ÿĳ िचĹ (?) के Öथान पर ³या 
आएगा?
7,       4.5,            5.5,              12,             49,               ?

A. 393            B. 396            C. 354             D. 367               
E. None of these
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What will come in place of the question mark (?) in 
the following number series?
िनÌनिलिखत सं́ या ®ृंखला म¤ ÿĳ िचĹ (?) के Öथान पर ³या 
आएगा?
3240,          540,           108,          27,          ?,          4.5

A. 7             B. 10               C. 9             D. 8                 
E. None of these



अǓत संभाͪवत Ĥæन – Based on Previous Year Paper

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

Read the following information 
carefully to answer the questions 
asked-
पूछे गए ÿĳŌ के उ°र देने के िलए 
िनÌनिलिखत जानकारी को Åयानपूवªक 
पढ़¤-

College

%age of 
Students 
Pursuing

Engineering

B:G 
(Engineering 

Students)

B:G (Non-
Engineering 

Students)

A 60% 7:3 8:7

B 40% 3:2 2:3

C 28% 2:1 5:4

D 50% 13:7 9:7

E 56% 5:3 2:3
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If ratio of total students in college 
B and college E is 3: 5. Find the 
ratio of engineering students 
studying in these colleges.
यिद कॉलेज B और कॉलेज E म¤ कुल 
छाýŌ का अनुपात 3:5 है। इन कॉलेजŌ म¤ 
पढ़ने वाले इजंीिनयåरंग छाýŌ का अनुपात 
²ात कìिजए।
(1) 11 : 17     (2) 5 : 9        (3) 3 : 7
(4) 13 : 17     (5) None of these

College

%age of 
Students 
Pursuing

Engineering

B:G 
(Engineering 

Students)

B:G (Non-
Engineering 

Students)

A 60% 7:3 8:7

B 40% 3:2 2:3

C 28% 2:1 5:4

D 50% 13:7 9:7

E 56% 5:3 2:3
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If number of non-engineering 
students in college A and C are 
equal then find the ratio of total 
students studying in these colleges.
यिद कॉलेज A और C म¤ गैर-इजंीिनयåरंग 
छाýŌ कì सं́ या समान है, तो इन कॉलेजŌ 
म¤ पढ़ने वाले कुल छाýŌ का अनुपात ²ात 
कìिजए।
(1) 2 : 3    (2) 5 : 8          (3) 7 : 12    
(4) 9 : 5 (5) None of these

College

%age of 
Students 
Pursuing

Engineering

B:G 
(Engineering 

Students)

B:G (Non-
Engineering 

Students)

A 60% 7:3 8:7

B 40% 3:2 2:3

C 28% 2:1 5:4

D 50% 13:7 9:7

E 56% 5:3 2:3
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College

%age of 
Students 
Pursuing

Engineering

B:G 
(Engineering 

Students)

B:G (Non-
Engineering 

Students)

A 60% 7:3 8:7

B 40% 3:2 2:3

C 28% 2:1 5:4

D 50% 13:7 9:7

E 56% 5:3 2:3

If number of girls studying in 
engineering in college B is 220, find 
the difference of boys and girls 
studying in non-engineering in 
college B.
यिद कॉलेज B म¤ इजंीिनयåरंग म¤ पढ़ने 
वाली लड़िकयŌ कì सं́ या 220 है, तो 
कॉलेज B म¤ गैर-इजंीिनयåरंग म¤ पढ़ने वाले 
लड़के और लड़िकयŌ का अंतर ²ात 
कìिजए।
(1) 125      (2) 165          (3) 185         
(4) 175 (5) None of these
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Find the ratio of boys and girls in 
college A.
कॉलेज A म¤ लड़कŌ और लड़िकयŌ का 
अनुपात ²ात कìिजए।
(1) 19: 30    (2) 19: 11     (3) 15: 17   
(4) 11: 19 (5) None of these

College

%age of 
Students 
Pursuing

Engineering

B:G 
(Engineering 

Students)

B:G (Non-
Engineering 

Students)

A 60% 7:3 8:7

B 40% 3:2 2:3

C 28% 2:1 5:4

D 50% 13:7 9:7

E 56% 5:3 2:3
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If total students studying in all 
colleges together is 60000. Find the 
approximate percentage of 
students among them  studying in 
college A, C and E.
यिद सभी कॉलेजŌ म¤ एक साथ पढ़ने वाले 
छाýŌ कì कुल सं́ या 60000 है। उनम¤ से 
कॉलेज A, C और E म¤ पढ़ने वाले छाýŌ 
का अनुमािनत ÿितशत ²ात कìिजए।
(1) 44%      (2) 56%      (3) 48%
(4) 39%      (5) Can’t be determined

College

%age of 
Students 
Pursuing

Engineering

B:G 
(Engineering 

Students)

B:G (Non-
Engineering 

Students)

A 60% 7:3 8:7

B 40% 3:2 2:3

C 28% 2:1 5:4

D 50% 13:7 9:7

E 56% 5:3 2:3
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